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(b) f}:l’afra‘ha fa_fqnfﬂzﬁ (Trigonal bipyrarmudal;

(c)  ewmad ;ﬂctahedrall
(d)  Tamg fg.f?mfﬁ?? (Pentagonal bipyramidal

ﬁwﬁﬂwmmﬁmﬂmﬁ ; L
Which of the following contains maximum number of
molecules are ?

(a) 44gcCo, (b) 4890, &
(c) 8gH, (d) 64gSO,
waffer v st 3 € - . !
The most stable corbonium ion is 0

(8)  (CH3)%C {u@c'

(c) CHy (@) CH,=CH="CH,

8 EER ™ U woes 4 128 gHITR T e
wfra geEm I 2
Ina 8 litre flask j ins 4 g H, and 128 g HI. Calculates

oram =) SeTEvY wita fafw | 2
W@'s Exclusion Principle with suitable example.
S F1 ¥ ? ISRV |t qoia B | 2

hat is heat of formation 7 Discuss with suitable
examples.

Teifefes Rrave g tedfofes fRaves d 7 s &?
SRRV wiRa e | 2
What is difference between Homolytic fission and
Heterolytic fission ? Discuss with example.
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Choose correct options of the foll estions.
(w) PEAAPE-WTEE 1
Whichis stmng«asl@fhnuwlng
(@ HCI (b) HCIO,
€ H % (d) HCIO,
(@) Mn e v ¥ | 1
m oxidation state of the Mnis.
K,MnO, (by KMnO,
(c) MnO, (d) Mn,0,4
’\Qu ST N, + 3H, —» 2NH, B e AH 71 3 e @ T
Q - 1
The value of AH of the reaction N,+3 H, —» 2NH, is equal to
(a) AE-RT () AE-2RT
(e) AE+RT (d) AE+2RT
(a) IF,6RaTE- ]
Shape of IF; is-
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(@) D
mammmu :
What is moder periodic Law ? Explain important
oroperties of Long form modem periodic table.

L (mmﬁﬁmﬁm) 5
What happens when (write only chemical Reactiony
(&) A affr AsCl, R BT |

Acetylene reacts with AsCl; &
(7) ﬂﬁﬂmmﬁiﬂﬁiﬁqﬂﬁﬂmﬂmﬁo

Methyl iodide heated with zinc powder.

(W) Sferam wrtys A v ool § &%ﬁlﬁm
]

It is obtained by mau@lcium carbide with

walter.

(7) *AAH o gaRafyd Cl, At ¥
Benzenere Cl, inthe presence of light.
(z) fta Bwwr  frm A ¥ |
heated with zinc Power.
(@) CachanEcaicay frfae) 5
get (Write chemical equation only)
AR A A

é\o Acatylene to Benzens.
iy —gew e A
Propane by wurtz Reaction
iy WY 1w
Propene to 1 - Bromopropane
(iv) ¥IAHTNE
Benzeneto TNB
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TS &0k e
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Cu=254r% -17A2% O=2566% H,0 W I7%
mﬂw,mmn.
Tha percent ~ompasitinn of @ componnd 18
n7r%

Cu=2% 47° § =12 B2% O =25 5% and
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What is Bohr atomic Model

(i) W=l sition elements)
(if) (Diagonal Relationship)
{ﬂ'n fraw (Hess's Law)
H® (Free radicals)
o 5 wEd ¥ 7§ WaR 4 JaTer afte ffle | 4

Hﬂ'd"lr}]r-

®
e\ Write whal is called Hybndizalion along with its ypes and

Sherus'™y
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Heat ol cinbshon of meth
A wl :H'- el o Tivetly
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Discuss Fyothemy reaction Bnd | rdotharmic reactions
wﬂhtnllﬂﬂﬂl'l‘*“
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The solution was made by dissolving dgram of NaOH in
S00mi of water Find the molanty of the solution

() mﬂmmhﬂﬂﬁﬂmnm

BRI (me=9.1x10 "' kg)
Calculated the product ol uncertainty n h&u
ﬁh

posihon and velocity.
(1)  rrafafas wfiem @ awm -
g - 2

Balanced the following equat - slectron method
Zn+No; + OH -+ ZnO2 ,+H,0

74 (%) SN'@@SN wawe®dHm: 3
Discuss SN' lw jons with suitable examples.

(|) i w IUPAC T AT | 3
Write mae of the following organic compounds.
aH,}‘N (i) CHy- D-(I‘.H-CH‘,

CH,

oq CH, c 0- C CH,
'2';,11 £ rrrémmmm! 7y vt et v ff 13

What is de-Brogle Hypothesis 7 Wrile its mathematical
equation ?
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() Yferey s A A
dJeto Ethylene
Al
Rre=rforRa W wiflre fouoh RIRIT — HHRERSS
'Writa short noles on the followings-

()  Wadvs yffr (Frenkland Reaction)

(i) ReEsgormo {Dahydmhloganaﬁnn}

(i) TS o frm Markonikoff's rule

(v) 3w arfdifiran (Wuriz Reaction) 0
(v) e afafdsn Etard Reaction 0

Ethyl bromi
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